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2024F11A11B~200 K2R (83)

1/4)
= =8 10°CHLEBESE| 160 e wig R 158
& ik
B SR (°C) FESUE (hPa) | #AXHEEE (h) JA[ - EE (n/s) [k = (mm B B4t SR (°C) FESUE (hPa) | HXHREE (b) JA[ - EE (n/s) [ K& (mm AR
T HE HIE T Ty | & | FH | RS | SK|RAR | BRE [ AR | B | 18508 | 105 | () T =4 =4 1 Y | R | FY | SE | FX| AR | BEE | BE | BF | 1858 [ 105 | (h)
11 17.3 21.3 13.8 17.8] 9o 69| 1.2 W[ 3.0 E[ 54 E[ 35 20 05 0.0 11 17.4 21.5 13.7 17.5] 88| e4] 1.6 sw 3] www[ 51 me[ 25 10 o5 0.0]
12 16.7 21.2 13.1 16.2] 86| 64] 1.6 S| 4] Nw[ 73] mnW 0.0 o0 oo 6.1 12 16.7 21.7 12.9 15.2] 8l 60] 2.0 S| 4.0 wnw[ 7.9 wnw] o0 o0 oo 7.9
13 16.1 20.9 131 15.6] 86| 60[ 1.0 SE[ 2.7 N 5.5 N[ oo 0o 00 838 13 16.3 21.0 12.8 147 80l s6[ 1.7 wsw| 3.2 Ne| 5.2 N[ o.0of 00 00 9.7
14 17.2 20.8 12.5 16.1 83  65] 2.3[ ESE[ 4.5 E[ 85 E[ oo oo 00 88 14 16. 6 22.1 11.8 15.8] 84 65] 1.5] sw| 3.9 NE[ 6.2 NE[ 0.0 0.0 0.0 82
15 18.8 20.5 17.2 18.7] 87| 74 1.5 ESE| 3.8 Nw[ 6.0 SE[ 0.0 0.0 00 00 15 17.8 19.9 16.3 18.2] 89 77 12| ssW 2.6] NNE[ 4.5 N[ oo 00 00 00
16 18.8 21.0 16.2 19.1 88] 82[ 2.1[ ESE] 3.9] ESE[ 6.8 ESE[ 0.0 0.0 0.0 0.0 16 18.6 22.6 16.5 19.3 9o 75] 0.8 S| 2.0 wnw[ 3.1] ESE[ 0.0 o0.0[ 0.0 0.0
17 18.8 21.9 16.6 189 87| 72 2.2 NNw| 6.5 Nww[ 1ot W 0.0 0.0 o0o0[ 00 17 18.3 22.3 15.9 180 85|  72[ 2.2 nw 5.4 nw[ 1o.5] Nw[ 05 0.5 05 0.0
18 14.5 16.9 11.2 11.3[ 68| 47 5.5 NNW| 11.8] Nww[ 16.6] NNW[ 0.0 0.0 0.0[ 7.0 18 14.5 16. 6 121 11.0[ 66| 42] 48] NNw| 7.4 Nww[ 130 N[ 0.0 0.0 0.0 32
19 10.7 14.4 7.1 7.9 62 46| 23] ENe[ 4.4 N[ 8.4 NE[ 0.0 0.0 00 73 19 10.9 14.3 7.4 7.9] 61 43| 2o ESE[ 5.8 NE[ 10.8] NE| 0.0 0.0 00 76
20 11.4 15.8 6.5 9.8 73[ 56 1.2 S| 2.9 wsw[ 6.1] wsw 0.0 o0 oo 89 20 11.3 16.4 6.4 9.1 69] 41 1.8] sw 2.8 Nw| 5.0 sW[ 0.0 0.0 oo 71
FEaa] 17.2 20.9 13.9 16.9] 86| 60 1.5 ESE 3.5 23.7) RG] 17.0 21.2 13.5 16.3 84  56[ 1.6] SW 2.5 25.8
®Ea 14.8 18.0 11.6 13.4] 76| 46] 2.7 NNW 0.0 23.2 #EH 14.7 18.4 11.7 13.1 74 41 2.5]  sW 0.5 17.9
f 16.0 19.5 12.8 15.1 81 46] 2. 1] ESE 3.5 46.9) 4 15.8 19.8 12.6 %] D S P 3.0 43.7)
FEE/H +2.6 +1.8 +3.4 V7 N 13 102 FEE/H +2.6 +2.1 +3.5 7 10 91
:ii;’ SEEHE l0CLLEmESR| 158 :f;g' Ber locuEEsE| 126
B SUR (°C) FASIE (hPa) | HEXLERE (%) A M - BE m/s) B oK & (mm B a4t SR (°C) FESE (hPa) | HEXHEE (%) AF - BE m/s) I [ 7K & (mm =)
Y =1 HIE F1y FH | SN |FY | EZ (S| AMA | B | Bm | B8t [ 1685105 ] () R = =RIE o) T |8 [T | [ S| Rm [ @EE [ Em | Bt [ 1855105 | ¢
11 17.3 20.8 12.9 18.0[ 92| 73 2.2 wnw| 5.3 www[ 7. 1] wnw[ 1o 1o o5[ 0.0] 11 16.3 21.0 10.9 17.0] 92 66| 1.4 S| 4.7 NNE[ 7.2 N[ 15[ 1.0 05 o0.0]
12 16.6 21.3 12.0 15.6] 84 59 2.9 sse| 7.3 mw[ 88 mW 0.0 0.0 00 60 12 14.6 21.5 1.4 147 89| 51 1.4 S| 46 NNE[ 7.9 NNW[ 0.0 0.0 00 58
13 15.8 21.4 11.7 5.3 86| 60[ 1.9] SE| 48 N[ 6.2[ www 0.0 0.0 oo 9.4 13 14.3 21.1 10. 6 14.2] 88|  60] 1.2 S| 3.4 NNE[ 53] NE[ 0.0 o0 00 80
14 16.8 22.4 11.5 16.2] 85| 62 2.2 ESE| 5.8 ESE[ 8.6 ESE[ 0.0 0.0 oo 7.7 14 15.0 21.0 10.2 15.2] 89| 69 1.5 S| 4 2] nNNE[ 6.8] NNE| 0.0 0.0 00 7.9
15 18.2 20.3 16.0 19.0[  oi 80] 1.3] wnw| 3.3 sw[ 50 NW 0.0 o0 0o 00 15 16.9 19.2 13.9 18.1 94 87 1.1 S| 2.8 S| 43 NE[ 0.0 0.0 oo 0.0
16 19.0 22.2 16.6 19.7] 89| 76[ 1.9] ESE| 4.9 ESE[ 7.3 ESE[ 0.0 0.0 0.0 0.0 16 17.8 21.7 15.6 18.8] 92 79[ 15 S| 2.7 S| 46 N[ oo 00 00 00
17 19.0 20.8 17.3 18.9[ 86| 72 3.7 wnw| o.5] www[ 12.2[ mNW[ 0.0 0.0 00[ 0.0 17 17.7 21.2 14.6 17.8] 88| 73] 1.7 S| 5.3 NNE[ 9.8] NNE[ 0.0 0.0[ 0.0[ 0.0
18 14.6 18.0 9.1 1150 69| 41| 6.2 NNw| 1o.2]  ww[ 15 1] W 0.0 0.0 oo 6.4 18 13.4 15.6 9.9 1.1 72| 45] 31 N 5.8 N 12.3[ NNW[ 0.5 0.5 0.5 0.7
19 10.0 15.1 6.3 8.5 70[ 45| 2.6 E[ 53] ENE[ 7.9 E[ oo oo 00 70 19 9.3 13.4 3 8.5] 74 41 1.6 S| 5.0 N[ 7.1 N[ 0.0 0.0 oo 54
20 10. 4 16.0 5.0 96| 78] 48] 2.0 SE[ 4.8 W 59 W00 00 oo 82 20 9.4 17.1 2.5 9.0 79[ 40| 12 S| 3o wnw[ 6.9 wnw] oo oo oo 7.9
RG] 16.9 21.2 12.8 16.8] 88| 59 2.1] SE 1.0 23.1) [TEa] 15.4 20.8 11.4 15.8] 9o 57 1.3 S 1.5 21.7
®Ea 14.6 18.4 10.9 13.6] 78] 41| 3.3] ESE 0.0 21.6 %Ea 13.5 17.8 9.4 130 81 40 1.8 S 0.5 14.0
5] 15.8 19.8 11.8 15.2] 83| 41 2.7] ESE 1.0 44.7) ] 14.5 19.3 10.4 14.4] 86| 40 1.6 S 2.0 35.7)
FEE/ +3.0 +2.6 +3.5 // // // 4 97 FEE/ +3.5 +2.3 +4.1 // // // 8 19
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2/4)
= i 0CHEBESE| 149 e R R e 17
& ik
B SR (°C) FESUE (hPa) | #AXHEEE (h) JLFA - &R (n/s) [k = (mm B B4t SR (°C) FESUE (hPa) | HXHREE (b) FLFA - &R (n/s) [ K& (mm AR
T HE HIE T Ty | & | FH | RS | SK|RAR | BRE [ AR | B | 18508 | 105 | () T =4 =4 1 Y | R | FY | SE | FX| AR | BEE | BE | BF | 1858 [ 105 | (h)
11 17.8 22.0 14.0 17.6] 87| 62 1.3] wNw| 3.8 N[ 7.1 nww[ 1ol 10l 0.5 0.0 11 18.3 22.0 13.6 3.1 W 6.5 NNE[ 8.7] NNE[ 1o 15[ 05
12 16. 4 22.0 11.4 15.1 82 58] 1.6 W42 www[  8.3] www] oo 00 00 6.8 12 17.7 21.9 14,1 2.6]  Nw[ 6.6 NNW[ 9.3[ NwW[ 0.0 0.0 0.0
13 16.5 21.9 12.8 14.9[ 81 54] 1.3] NNE[ 3.8 wnw[ 6.2[ wnw| 0.0 oo oo 56 13 17.5 21.1 14.8 2.9 W[ 6.3 NNE[ 7.7] NNE[ 0.0 0.0 0.0
14 15.8 20.5 10. 4 5.8 88 70 1.2 W[ 4.5 ESE[ 6.4 E[ oo oo 00 19 14 18.0 20. 6 13.4 2.1] ENE[ 4.5] ENE[ 6.7 ENE[ 0.0 0.0 0.0
15 18.4 21.3 16.3 19.7] 93] 82[ 0.7 wsw 2.2 sw[ 33 sW 0.0 0.0 oo 00 15 201 21.2 18.5 3.1 NE[ 5. 1] NNE[ 7.2 NNE[ 0.0 0.0 0.0
16 19.0 21.2 16.8 20. 1 92  84[ 1.2 E[ 35 E[ 4.6 ESE[ 0.0 0.0 00 0.0 16 20.4 21.2 18.0 4.2 E[ 5.9 ENE[ 9.3[ NE[ 0.0 0.0 0.0
17 19.2 22.6 16.3 189 85| 7i[ 1.6 wnw| 4.3 ww] 8.9 W00 00 o0 03 17 20.0 22.6 17.0 3.6 Nw[ 86 [ 11.8[ nW 0.0 oo 0.0
18 14.4 17.7 8.3 11.2[ 69| 45 2.8] NNW| 4.8 www] 11.8] NW 0.0 0.0 00 44 18 15.2 18.5 12.5 6.8] NNW[ 12.2 N[ 15.9 N[ 00 00] 00
19 9.6 13.8 6.0 83 71 48] 1.3 NNE[ 3.3 ENE] 6.5 NE[ 0.0 0.0 00 32 19 11.8 14.6 9.7 5 4] NNE[ 10.3 N[ 13.9 N[ 00 00| 00
20 11.4 18.1 52 9.1 70]  32[ 1.7 wNw 4.4 www[ 71 W 0.0 0.0 o0 88 20 12.6 17.0 8.0 3.6 W[ 6.8 NNE[ 8.7] NNE[ 0.0 0.0 0.0
FEaa] 17.0 21.5 13.0 16.6] 86| 54 1.2 wNw 1.0 14.3) RG] 18.3 21.4 14.9 2.8 W 1.0
®Ea 14.7 18.7 10.5 13.5  77] 32 1.7] wNw 0.0 16.7 ] 16.0 18.8 13.0 4. 7] _NNE 0.0
f 15.9 201 11.8 15.1 82| 32[ 1.5] wNw 1.0 31.0) 4 17.2 201 14.0 3.7\ 1.0
FEE/H +3.3 +2.4 +4.1 V7 N 4 67 FEE/H +3.2 +2.4 +4.1 7 4
B A ocpEEEsE| 157 il ni% 0cobmESE| 116
i &
B SUR (°C) FASIE (hPa) | HEXLERE (%) A M - BE m/s) B oK & (mm B a4t SR (°C) FESE (hPa) | HEXHEE (%) AF - BE m/s) [ 7K & (mm L
Y =1 HIE F1y FH | SN |FY | EZ (S| AMA | B | Bm | B8t [ 1685105 ] () R &5 =RIE o) | SN [T | SZ [ KK | A [ BEE | BE | B8 | 18578 | 105 | ()
11 17.6 23.2 13.4 18.0[ 9o 60 1.2 ssw 3.2 mw[ 4.7 www 0.5 o5 o5 27 11 15.0 20. 1 9.7 157 92 65 0.9] NNE| 3.1 NE[ 5.5 NE[ 10 0.5 0.5 o0.0]
12 16.3 23.6 12.2 15.4] 85| 51| 1.4 W[ 4.3 W 6.7 W[ o0 00 oo 7.1 12 13.3 20.7 9.4 13.5] 89|  56[ 0.8 N 2.7 ssw 5. 1] NNE[ o.0o[ 0.0 00 54
13 15.5 23.2 10.7 14.3[ 83| 49 1.6] ENE] 5.3 N[ 8. 1] ENE[ 0.0 0.0 0.0 82 13 13.3 20. 6 8.8 13.0] 87 54 1.1] NNE| 4.3 NE[ 7.1 NNE[ 0.0 0.0 0.0 59
14 17.2 254 11.3 16.2] 83| 54 1.4] ESE| 3.7 wsw[ 4.7 wnw| 0.0 oo oo 66 14 14.2 22,6 8.2 145 90| e3[ 0.8 N[ 2.5] NNE| 4. 1] NNE[ 0.0o[ 0.0 00 55
15 18.2 21.3 15.8 18.7] 9o 79[ 1.3 ENE| 3.5] ENE[ 53] NE[ 0.0 0.0 0.0[ 0.0 15 16.2 20.2 13.6 17.2] 93] 80 1.0 N[ 2.3 N[ 4.8 NNE[ 0.0 0.0 00 0.0
16 19.0 23.4 16.7 19.5( 89| 73] 1.1] sse| 4o NNE[ 50 NE[ 0.0 0.0 oo 03 16 16.7 21.3 13.9 7.3 o1 73] 0. 7] NNE[ 18] NNE[ 3.5 sSE| oo 0.0 0.0[ 0.0
17 17.5 21.0 15.5 18.4] 92| 78] 1.6] wnw] 5. 1] ww[ 7.6] NW _0.5] 0.5 05[] 0.0 17 15.7 18.2 13.2 16.7] 94 81] 0.8] NNE| 3.0 NNE[ 7.6] NNE[ 0.5] 0.5 0.5 0.0
18 14.2 18.2 11.6 11.3[ 70 43 2.9 N[ 6.7 N[ 10.6 N[ oo 0.0 00 26 18 11.3 15.0 8.6 10.5] 79] 52| 1.7] NNE| 4.8] NNE[ 10.2[ NE[ 0.0 0.0 0.0 2.6
19 10.9 15.1 5.8 8.3 65 44| 3. 1] ENE[ 6.2 ENE[ 9.9 ENE[ 0.0 0.0[ 00 7.3 19 7.9 126 3.0 7.4 70 48] 1.9 ENE[ 4. 2] NNE[ 8.2 E[ 0o oo oo 86
20 110 18.4) 3.6) 95| 75 43)| 12| ENE[ 4.0 W 5.7 W 00| 0o0fo0] 60 20 8.0 16.5 0.9 8.2 79[ 4o oo Ne[ 3.7 NE[ 71] ENE] 0.0 0.0 00 6.5
RG] 17.0 23.3 12.7 16.5 86|  49] 1.4] ENE 0.5 24.6 RG] 14.4 20.8 9.9 14.8] 90| 54 0.9] NNE 1.0 16. 8
®Ea 14.5 19.2 10. 6 13.4 78] 43] 2.0 ENE 0.5 16.2 %Ea 11.9 16.7 7.9 120 83 40[ 1.2] NNE 0.5 17.7
5] 15.7 21.3 11.7 15.0[ 82 43 1.7] ENE 1.0 40.8 £ 13.2 18.8 8.9 13.4] 86| 40] 1.1] NNE 1.5 34.5)
FEE/ +4.2 +3.5 +5.2 // // // 3 98 FEE/ +3. 4 +2.8 +4. 4 // // // 5 81
X U) U IFEERE. ] 7 FEMFRME. C x 7 EXREL




Hh 350 5 SR R B $5

2024F11A11B~200 K2R (83)

(3/4)
:221 B 0cHEEERE| 115 :;“i;' P 10°CLLERESE| 169
B SR (°C) FESUE (hPa) | #AXHEEE (h) JLFA - &R (n/s) [k = (mm B B4t SR (°C) FESUE (hPa) | HXHREE (b) FLFA - &R (n/s) | [ K& (mm =]
T HE HIE T Ty | & | FH | RS | SK|RAR | BRE [ AR | B | 18508 | 105 | () R =4 =4 1 FH [ 8N [FH [ [BX[Am [@E [ An | Bt [1B&m[105] G
11 14.7 19.6 9.7 15.00 9o 63| 1.6 sw| 52 NNE|  7.7] NNE[ 2.0 1.0[ 0.5[ 0.0] 11 18.5 22.4 14.7 18.2] 86| 64 2.1 N 5.0 N 7.8 N 40 15 05 43
12 13.2 20.7 8.7 130 81 56| 1.6 sw 45 sw 81 sw 05 05 05 83 12 17.5 231 12.8 15.7] 80| 58] 2.7 S| 45 N 7.8 Wi oo oo oo 80
13 12.9 19.6 8.4 3.0 88| 51| 1.2 sw 34 N 59 WNE[ 00 oo oof 38 13 16.9 21.5 13.0 15.3] 80| 59 2. 1] SSE| 3.7 N _6.1] ENE| 00 00] 00 51
14 13.5 209 8 1 1] o1 67| 1.3 ssw| 47 wsw| 81| ssW| o0 o0 00 42 14 17.1 20.6 12.9 16.7] 85| 72| 1.9] SSE| 3.4] SSE[ 5.0 E[ 00 00 00 o024
15 16.3 20.7 13.2 7.1 92 77 1.3 mw[ 37| WNNE| 6.5 NNE[ 0.0 0.0 00 0.0 15 19.4 20.7 17.6 19.5] 87 69 1.6 S| 3.8] ENE| 6.1] ENE|[ 0.0 00] 00] 0.0
16 16.9 19.1 15.1 17.8] 92| 81| 1.3 sw 3.4 sw 49 ssW oo 00 00 00 16 20.0 21.6 18.6 20.5| 88| 80| 1.3 SSE[ 2.7] SSE[ 3.8 SSE[ 0.0 0.0 00 0.0
17 16.2 19.6 13.4 16.6] 90 78] 1.6 N 43 NNE[ 8.7 N 00 oo 0o o1 17 19.7 22.0 17.3 19.7] 86| 73] 30 W 102 w165 N 00 o0 00 0.0
18 10.8 13.6 8 1 98 75 55| 2.8 NNE| 5.4 NN 12.3[ wwi[ 05| 05| 05| 05 18 157 17.6 12.9 11.5] 64| 46| 4.8 nww|[ 82 wmw[ 159 w00 o0 00 22
19 6.8 1.1 2.1 7.1 73] 50| 2.4 N 5.0 NNE[ 9.9 Nw[ oo oo oof 53 19 11.8 4.4 8.9 8.5 62 46| 3.5 N 6.4 N 110 NNE[ 00 oo oo 46
20 7.4 15.0 0.6] 7.8 79| 38 1.6] W 50 NNE[ 8.8 NNE[ o0 00 00 7.6 20 12.5 17.6 7.3 93] 65 31| 2.2 S| 5.2 N 87 Wi 00 o0 00 90
[EX] 141 20.3 9.6 14.4] 90| 56| 1.4 W 2.5 16.3) FIEXD) 17.9 21.7 14.2 17.1] 84 58] 2.1 S 4.0 17.8
HER 1.6 15.7 7.9 11.8] 82| 38| 1.9 sw 0.5 13.5 BER 15.9 18.6 13.0 139 73] 31 3.0 N 0.0 15.8
) 12.9 18.0 8.7 13.1] 86| 38 1.7] W 3.0 29.8) ] 16.9 20.2 13.6 15.5] 78] 31| 2.5 N| 4.0 33.6
FEZ/H +3.6 +2.8 +4.7 /i 10 74 FEE/ +3.1 +2.1 +4.0 YA VA A [ 14 69
:ﬁi’ A1 0oL rESE| 129 :}fi’ T l0cLEmESE| 124
B SUR (°C) FASIE (hPa) | HEXLERE (%) A M - BE m/s) | B oK & (mm B B4t SR (°C) FESE (hPa) | HEXHEE (%) AF - BE m/s) [ 7K & (mm =)
Y =1 HIE F1y iy | & | FY | &S | SA|Em | BE [RE | 85 [ 1858105 ] () R = =RIE o) | SN [T | SZ [ KK | A [ BEE | BE | B8 | 18578 | 105 | ()
11 16.5 21.0 12.4 183 91| 79| 1.2 N 4.2 N 7.0 N30 1o 05[] 0.0 11 16.4 21.6 12.5 17.8] 96| 77| 0.9 wsw| 34| ENE[ 5.0 E[ 2.0 15[ o5 0.0
12 15.2 22.0 1.0 16.1] 94 73] 1.3] NNE| 3.6] NNE[ 6.1 N 00 oo 00 85 12 14.9 22 3 9.2 15.3] 91| 60 1.2 wsw 3.7] ENE| 5.9 E[ 00 o0 0o 95
13 14.0 21.1 10.1 5.3 95| 71| 1.0 S| 2.8] WNE[ 5.1 N 00 o0 00 33 13 13.9 20.4 9.5 14.1] 90| 50| 1.0] wsw[ 3.1 E| 5.8 ENE[ o00[ o00[ 00 5.1
14 15.2 21.2 10.6 16.8] 97| 78] oo sse[ 27| NNE| 49 NNE[ 0.0 o00[ 00 21 14 15.0 211 9.3 15.9] 93] 73 0.9 W 2.4 NE| 4.7] NNE[ 0.0 00[ 00] 40
15 17.4 19.1 15.6 19.9] 100] 100] 0.7 N 2.8 N 52 N 00 00 00 00 15 17.0 20,1 14.8 19.3 99| 90| 1.0 sw 27| ENE[ 4.4 ENE| oo o0 00 00
16 18.4 20.8 16.8 20.9] 99 90[ 0.7 s| 1.5 s| 2.4 W oo o0 00 00 16 17.5 19.4 16.0 19.7] 98] 89 0.7] ssw| 1.8 ssw 2.7 sw| o0 oo 0o 0.0
17 18.0 232 15.5 20.2] 97| 81| 1.4 S| 5.1 N 9o w10 10 o5 o2 17 17.7 21.6 14.7 19.6] 97| 82| 1.0 ENE[ 2.8 ENE[ 4.0 ENE[ 00 o0 00 1.5
18 13.8 16.5 1.3 120] 76| 55 32| nww| 6.8 nww| 134 NwW| 0.0 0.0 00 038 18 11.6 15.7 6.5 10.8] 80| 46| 2.0 NNE| 6.1 NNE| 11.6] NNE| o0.0[ 0.0 00 1.9
19 9.9 13.8 56 93] 78] 55| 2.4 NNW|_ 4.7] NNE[ 9.5 NNE[ 0.0 00 0o 48 19 8.2 12.5 4.9 81| 76| 49 1.6 N[ 4 2] ENE[ 6.9 ENE[ 00| 00 00 76
20 9.8 17.8 4.4 9.8 84 45| 1.4 S| 4.4 N 84 Nw| oo oo oo 76 20 9.3 17.4 3.4 9.0 8o 41| 11| ssw[ 2.2[ ENE[ 40 ssw[ oo o0.0[ oo 66
FEX] 15.7 20.9 1.9 17.3[ 91| 71| 1.0 SSE 3.0 13.9) FIE] 15.4 21.1 [ 16.5] 94| 50[ 1.0[ wsw 2.0 18.6
HER 14.0 18.4 10.7 14.4] 81| 45| 1.8 NNW 1.0 13.4 BER 12.9 17.3 9.1 13.4] 86| 41| 1.3 SsW 0.0 17.6
f] 14.8 19.7 1.3 15.9] 92 45 1.4 N 4.0 27.3) ] 14.2 19.2 10.1 15.0] 90| 41| 11| Wsw 2.0 36.2)
FEE/H +3.3 +1.9 +4.9 // // // | 15 55 FEE/ +3.3 +2.6 +4.6 // // // 8 13
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2024F11A11B~200 K2R (83)

4/
= ffa 10°CHEBESE| 168 e +8 R e 126
& ik
B &R (°C) FASRE (hPa) | HEXNEE (%) SR - EE (n/s) [ K& (mm =[] B4t Sim (°C) FEKUE (hPa) | HEXHEEE (%) SR - EaE (n/s) &K= (mm BER
5 | BE | BE T8 |5 [ m T8 [ 5s | ax | RA ] BE AR | B [1EE[105] O 5 | Bs | BE T |8 [ g0 w8 [ 85 [ | BA | BE | RA | B [15m]105 ] ©)
T 17.8] _ 21.2]  14.2 18.1] 8] 71 1.6] W 38 N 62 MW 25 15 0.5 0.0] T 16.1] 209 11.9 7.0 93| 69 0.8 N[ 3.0 WNNE| 55 NE| 3.0 25 1.0 0.0]
12 16.6] 217 __12.6 i5.9] 85| 63| 2.0 ssW 3.8] NE| 6.7 MNE[ _0.0] 0.0 0.0 7.9 12 43 21.0] __10.2 48] 91| 65| 0.9] SSE[ 3.9] NNE| 6.3] WNE| 0.5 0.5] 0.5] 6.6
13 17.0] 21.2] _13.5 53] 80| 61 2.3 W[ 3.9 N 6.4 W[ 00 00 00 48 13 13.2] 200 8.6 13.5] 90| _60] 0.7 s 2.8] WNE| 5.2] NE| 0.0 0.0 00 46
14 17.6] 231 13.3 17.1] 85| 50| 1.4 wew| 3.1 W 52 _ W 0.0 00 0.0 17 12 5.4 224 9.9 16.1] o] 68 0.7 Ne| 3.1] SSE| 6.7 SE| 0.0 00 00 28
15 19.1] 207 __18.3 207] 904 s3] 1.3] W 26| M| 52 N 20 1.0 05 0.0 15 17.6] 200 _16.2 19.5] 7] 91] 0.6 ssW| 2.7 WNe| 51| NE[ 1.o[ 0.5 0.5 0.0
16 19.5] 213 18.1 20.7] 91 o] 1.2 ws] 2.4] W __3.9[ ww| 0.0 0.0] 0.0 0.0 16 80| 201 16.4 19.6] 95| 85 0.5] S| 1.6] S| 25 S| 00 00 00 0.0
17 19.0] 225 17.9 19.5] 84| e8] 1.7 s 7.2] W 1.3 [ 0.0 0.0 0.0 0.0 17 18.2] 221 15.1 19.4] 93] 79| 0.9 NE[ 2.6] WNE| 5.0 WE[ 25 20 10 0.0
B 16.2]  18.2] 14.3 1.0] 59| 46| 4.6 W 7.5 Wi 135 N 0.0 0.0 0.0 1.9 18 13.4] 171 __10.2 10.8] 71| 53] 1.4 WNE[ 3.7 NNE| 9.6] NNE[ 0.5 0.5] 0.5] 3.1
19 12.5] 145 8.3 58] 61 49 35 N 61| N 1.1 N 00 00 00 42 19 87| 12.6 3.4 8.3] 76| 54 1.3 NNE[ 43 WNE| 9.6] N 0.0 00 00 3.3
20 1200 __18.0 6.8 93] 60| 33 2.4 W] 45 N 8.4 _N_00 0.0 00 86 20 86| 178 2.0 86| 81| 40 0.8] S 3.0 NE| 6.6 NE[ 0.0 0.0 0.0 83
BiEa| 176 21.6] 144 7.4 81 50 LI W 45 12.4) SiEm| 153 212 1.4 T6.2] 92 60 0.7 NE 45 12.0
=8| 160 18.9] 131 13.0] 73] 33 2.7 W 0.0 14.7 Gxm| 3.4 179 9.4 13.3] 83| 40| 1.0 WNE 3.0 14.7
& 168 202 137 15.6] 80| 33| 2.2] WsH 45 29.1) B 144 19.6] 0.4 14.8] 88| 40] 0.9] NNE 75 28.7)
SR/l 30| 2.0 __+40 Y7 i 2 58 FEE/M| 3.6 21| +5.1 Y7 % 60
B L 10cuLRESE| 181
i
B A (°C) FERUE (hPa) | HEXERE (%) ALF - BE m/s) Bk = (mm =]
Iy BE =IE F | [T [ Rz [ 8| Am | BE [Aa | 85t [ 1#E [ 105 ] ()
T 19.2] 229 167 17.7] 80| 66| 2.3 N| 54 N 10.1] N[ 1.5 1.0 0.5 0.0]
12 18.8]  23.3] _ 15.1 16.5] 76] 64| 2.1[ WNE[ 5.0 WW| 12.7] WE[ 0.0 0.0 0.0 75
13 18.0] 224 1.0 i5.1] 69| 56| 3.9 N 60 N 1.8 _ N 0.0 00 00 97
14 19.8] 23.8] 1.5 17.6] _76] 60 2.3 N[ 45 N 8.0 W[ 0.5 0.5 0.5 3.0
15 201] 214|187 21 2] 90| 83| 1.7] WNE| 44| W] 6.7 N_25 10 05 0.0
16 205] 225|187 207] 86| 78] 1.2] WNE| 3.3] N 5.7 MW 0.0 0.0[ 0.0 0.0
17 20,8 24.6] __18.3 19.5] 80| 70 2.4 N _6.8] N 710.8] MNE[ 0.0 0.0 0.0 27
B 16.2] 189 13.9 10.7] 58] 47 4.1 N[ 6.8] WNE| 14.3] WNE[ 0.0 0.0 0.0 3.8
19 13.1]  15.3] __10.6 87| 58] 48] 41 N 6.9 N 1.6 N 00 00 00 95
20 140 19.0 99 8 7] 55| 35 3.2] N 61| N 10.2] N 00 0.0 00 80
BiEE| 194 228 110 17.6] 78] 56 2.5 | 45 20.2)
%af| 160 201 143 13.7] 67| 35] 3.0 | 0.0 24.0
&l 18] 214 5.6 15.6] 73] 35| 2.7 | 45 14.2)
FEE/H +3.1 +2. 4 +4.0 // // // | 10 81
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RITR (83)

2024511 A118~208

a/m

7K & (mm)

SBRI105H

SRR

Tz

)

(% 7k & (mm)

X105 | B

=
EX

peoNLisic|

TEL

&t

E%F
7K & (mm)

X100 | B

=
A

0.5

0.0
0.0
0.0
0.0
0.5

0.0
0.0
0.0
0.0
0.0
0.0

0.5

SRR

1.0
0.0
0.0
0.0
0.0

1.0
0.0
0.0
0.0
0.0
0.0
0.0

1.0

14

Iz

2.0
0.0
0.0
0.0
0.0
2.0
0.0
0.0
0.0
0.0
0.0
0.0
2.0
2.0

)

B 7k & (mm)

X105 | B

=
EX

0.5
0.0
0.0
0.0
0.0
0.5
0.0
0.5
0.0
0.0
0.0
0.5

0.5

peoN i

1.0
0.0
0.0
0.0
0.0

1.0
0.0
0.5

0.0
0.0
0.0
0.5

1.0

TEL

&t

=]

1.0
0.0
0.0
0.0
0.0

1.0
0.0

1.5
0.0
0.0
0.0

1.5
2.5

1.5

117

3]
7K & (mm)

SBRI105H

0.5

0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
0.0

15

SRR

1.0
0.0
0.0
0.0

1.5
1.5
0.0
0.0
0.0
0.0
0.0
0.0

1.5
15

35

17

Iz

3.0
0.0
0.0
0.0
2.0
5.0
0.0
0.0
0.0
0.0
0.0
0.0
5.0
3.0

)

HRESIE
% 7k & (mm)

X105 | B

=
EX

0.5
0.0
0.0
0.0
0.0
0.5
0.0
0.0
0.0
0.0
0.0
0.0

0.5

SR 1B

0.0
0.0
0.0
0.0

0.0
0.0
0.0)
0.0
0.0
0.0

FEL

11

&t

=]

1.5
0.0
0.0
0.0
0.0

1.5
0.0
0.0
0.0

0.0
0.0
0.0

1.5
1.5

BRIFTH

B+

12
13
14
15

H/BX
16
17
18
19
20

*4

it/ BA
)]

+4

)

¥ e

“ox T IERE

“17 FEHTEE.

X U) 7 FHEIERE.



